(x% ESERCI ZI O 2. 1. 10 %%)

Clear [f];
fIx_1:=x"2-3;
Pl ot [f [x], {x, O, 3}, PlotStyle- {RGCol or [0, O, 1], Thi ckness[0.005]}]

a=1.0; b=2.0;

tol =107 (-4);

fa="f[a];

fb=f[b];

an[0] =a; bn[0] = b;

cn[0] =0.5% (a+h);

test =b -a;

testhbis[0] =bn[0] -an[0];

nmax = 10;

n=1; Wiile[test >tol, {fa=f[an[n-1]]; fc=f[cn[n-1]1;
If[faxfc <0, {an[n] =an[n-1]; bn[n] =cn[n-1]}, {an[n] =cn[n-1]1; bn[n] =bn[n-17}];
cn[n] =0.5% (an[n] +bn[n]); test = Abs[bn[n] -an[n]]; n++}];

Print ["Bisezione: n =", n-1, " ¢ =", cn[n-1]]
Clear [x]; test =1.0; n=0;
x[0] = 0. 4;

Wil e[test >tol, {x[n+1] =x[n] -f [x[n]]/f"' [X[n]]; test = Abs[Xx[Nn+1] -X[N]]; N++}]
Print ["Newton: n =", n, " ¢ =", x[n]]

Print [«/? = T, Sqrt[s.]]

Bi sezione: n = 14 ¢ = 1.73203

Newt on:

n=6 c¢c =1 73205

V3 = 1.73205

(** ESERCI ZI O 2. 1. 11 =%)

(x% ESERCI ZI O 2. 1. 12 %%)
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Esercitazionel.nb

Clear [f];
fIX_1:=x"3+x-4,
a=1.; b=4.;

nmaxl = Log[2, (b-a) /tol]

14. 8727

(*% ESERCIZI O 2. 1. 17 #%)

Cear[f, V, r, h, LI;

fIh_1:=L*(r"2+(0.5%Pi -ArcSin[h/r]) -h%(r"2-h"2));
dati ={L>10., r »1., V> 12. 4}

Plot [(f [h] -V) /. dati, {h, O, r /. dati },

Pl ot Styl e » {RGBCol or [0, O, 1], Thi ckness[0.005]1}]

(L5510, r 1., V512. 43

a=0.0; b=0.2;

tol =107 (-2);
firh_1:= (f [h]-V) /. dati
fa=fl[a] /. dati
fb=f1[b] /. dati

3. 30796

-0. 625616

an[0] =a; bn[0] =b;
cn[0] =0.5=% (a+b);

test =b -a;
testbis[0] =bn[0] -an[0];
nmax = 10;

n=1; While[test >tol, {fa=fl[an[n-1]]; fc=fl[cn[n-1]1;
If[faxfc <O, {an[n] =an[n-1]; bn[n] =cn[n-1]1}, {an[n] =cn[n-1]; bn[n] =bn[n-1]7}1;
cn[n] =0.5% (an[n] +bn[n]); test = Abs[bn[n] -an[n]]; n++}];

Print ["Bisezione: n =", n-1, " ¢ =", cn[n-1]]

Bisezione: n =5 c¢ = 0.165625




